# New intuitionistic fuzzy extended modal operators 

Krassimir T. Atanassov<br>Department of Bioinformatics and Mathematical Modelling Institute of Biophysics and Biomedical Engineering Bulgarian Academy of Sciences<br>105 Acad. G. Bonchev Str., Sofia-1113, Bulgaria, and<br>Intelligent Systems Laboratory, Prof. Asen Zlatarov University<br>1, Y. Yakimov Blvd., Bourgas-8010, Bulgaria<br>e-mail: krat@bas.bg

Received: 26 September 2017
Accepted: 15 November 2017


#### Abstract

Seven new intuitionistic fuzzy operators are introduced. Some of their basic properties are discussed.


Keywords: Intuitionistic fuzzy set, Intuitionistic fuzzy operator.
AMS Classification: 03E72.

## 1 Introduction

Following [3,5], in the present paper we discuss extensions of some modal type of operators, defined over Intuitionistic Fuzzy sets (IFSs). We mention that each IFS $A$ has the form

$$
A^{*}=\left\{\left\langle x, \mu_{A}(x), \nu_{A}(x)\right\rangle \mid x \in E\right\},
$$

where $E$ is some universe, $A \subseteq E$ is a fixed set, $\mu_{A}(x)$ and $\nu_{A}(x)$ are the degrees of the membership and of the non-membership of $x \in E$ to $A$ and $\mu_{A}(x), \nu_{A}(x), \mu_{A}(x)+\nu_{A}(x) \in[0,1]$.

Below we will use only notation $A^{*}$, for brevity, and for this reason the asterisk will be omitted.

In [1], for a first time, extensions of the intuitionistic fuzzy modal operators $\square$ and $\diamond$ are introduced. They have the forms:

$$
\begin{aligned}
& D_{\alpha}(A)=\left\{\left\langle x, \mu_{A}(x)+\alpha \cdot \pi_{A}(x), \nu_{A}(x)+(1-\alpha) \cdot \pi_{A}(x)\right\rangle \mid x \in E\right\}, \\
& F_{\alpha, \beta}(A)=\left\{\left\langle x, \mu_{A}(x)+\alpha \cdot \pi_{A}(x), \nu_{A}(x)+\beta \cdot \pi_{A}(x)\right\rangle \mid x \in E\right\},
\end{aligned}
$$

where $\alpha, \beta \in[0,1]$ are fixed numbers and $\alpha+\beta \leq 1$.

Obviously, $D_{\alpha}(A)=F_{\alpha, 1-\alpha}(A)$.
In [2], five other operators were defined and in [3], their basic properties were described. Their forms are the following:

$$
\begin{aligned}
G_{\alpha, \beta}(A) & =\left\{\left\langle x, \alpha \cdot \mu_{A}(x), \beta \cdot \nu_{A}(x)\right\rangle \mid x \in E\right\}, \\
H_{\alpha, \beta}(A) & =\left\{\left\langle x, \alpha \cdot \mu_{A}(x), \nu_{A}(x)+\beta \cdot \pi_{A}(x)\right\rangle \mid x \in E\right\}, \\
H_{\alpha, \beta}^{*}(A) & =\left\{\left\langle x, \alpha \cdot \mu_{A}(x), \nu_{A}(x)+\beta \cdot\left(1-\alpha \cdot \mu_{A}(x)-\nu_{A}(x)\right)\right\rangle \mid x \in E\right\}, \\
J_{\alpha, \beta}(A) & =\left\{\left\langle x, \mu_{A}(x)+\alpha \cdot \pi_{A}(x), \beta \cdot \nu_{A}(x)\right\rangle \mid x \in E\right\}, \\
J_{\alpha, \beta}^{*}(A) & =\left\{\left\langle x, \mu_{A}(x)+\alpha \cdot\left(1-\mu_{A}(x)-\beta \cdot \nu_{A}(x)\right), \beta \cdot \nu_{A}(x)\right\rangle \mid x \in E\right\} .
\end{aligned}
$$

where $\alpha, \beta \in[0,1]$ are fixed numbers.
In [4], these operators are extended, changing their parameters, being two real numbers, with whole IFSs. The respective definitions are:

$$
\begin{aligned}
F_{B}(A) & =\left\{\left\langle x, \mu_{A}(x)+\mu_{B}(x) \cdot \pi_{A}(x), \nu_{A}(x)+\nu_{B}(x) \cdot \pi_{A}(x)\right\rangle \mid x \in E\right\} ; \\
G_{B}(A) & =\left\{\left\langle x, \mu_{B}(x) \cdot \mu_{A}(x), \nu_{B}(x) \cdot \nu_{A}(x)\right\rangle \mid x \in E\right\} ; \\
H_{B}(A) & =\left\{\left\langle x, \mu_{B}(x) \cdot \mu_{A}(x), \nu_{A}(x)+\nu_{B}(x) \cdot \pi_{A}(x)\right\rangle \mid x \in E\right\}, \\
H_{B}^{*}(A) & =\left\{\left\langle x, \mu_{B}(x) \cdot \mu_{A}(x), \nu_{A}(x)+\nu_{B}(x) \cdot\left(1-\mu_{B}(x) \cdot \mu_{A}(x)-\nu_{A}(x)\right)\right\rangle \mid x \in E\right\}, \\
J_{B}(A) & =\left\{\left\langle x, \mu_{A}(x)+\mu_{B}(x) \cdot \pi_{A}(x), \nu_{B}(x) \cdot \nu_{A}(x)\right\rangle \mid x \in E\right\}, \\
J_{B}^{*}(A) & =\left\{\left\langle x, \mu_{A}(x)+\mu_{B}(x) \cdot\left(1-\mu_{A}(x)-\nu_{B}(x) \cdot \nu_{A}(x)\right), \nu_{B}(x) \cdot \nu_{A}(x)\right\rangle \mid x \in E\right\},
\end{aligned}
$$

where $B$ is an IFS.
Let

$$
\begin{gathered}
A \subseteq B \text { if and only if }(\forall x \in E)\left(\mu_{A}(x) \leq \mu_{B}(x) \& \nu_{A}(x) \geq \nu_{B}(x)\right), \\
A \supseteq B \text { if and only if } B \subseteq A, \\
A \cap B=\left\{\left\langle x, \min \left(\mu_{A}(x), \mu_{B}(x)\right), \max \left(\nu_{A}(x), \nu_{B}(x)\right)\right\rangle \mid x \in E\right\}, \\
A \cup B=\left\{\left\langle x, \max \left(\mu_{A}(x), \mu_{B}(x)\right), \min \left(\nu_{A}(x), \nu_{B}(x)\right)\right\rangle \mid x \in E\right\} .
\end{gathered}
$$

As it is mentioned in [5], operator $F_{B}(A)$ totally extends operator $F_{\alpha, \beta}(A)$, while operators $G_{B}(A), H_{B}(A)$ etc. only partially extend operators $G_{\alpha, \beta}(A), H_{\alpha, \beta}(A)$, etc., respectively.

In the present paper, we discuss a way for total extension of operators $G_{B}(A), H_{B}(A)$ etc. Obviously, the use of only one IFS as a parameter on the place of the two constants $\alpha$ and $\beta$ is not possible. So, below we use two IFSs instead of the two parameters.

## 2 Main results

Here, we discuss step by step the respective intuitionistic fuzzy extended modal operators and discuss some of their propertiers. We give the proof of only the first two properties, formulated below, and the rest of the properties are proved in the same manner.

### 2.1 Operator $G_{B, C}$

It is defined by:

$$
G_{B, C}(A)=\left\{\left\langle x, \mu_{B}(x) \mu_{A}(x), \nu_{C}(x) \nu_{A}(x)\right\rangle \mid x \in E\right\}
$$

Theorem 1. For every six IFSs $A, B, C, D, P, Q$ :

$$
\begin{gathered}
G_{\square B, \diamond C}(A)=G_{B, C}(A) . \\
\neg G_{\neg C, \neg B}(\neg A)=G_{B, C}(A), \\
G_{B, C}\left(G_{P, Q}(A)\right)=G_{P, Q}\left(G_{B, C}(A)\right), \\
G_{B, C}(A \cap D)=G_{B, C}(A) \cap G_{B, C}(D), \\
G_{B, C}(A \cup D)=G_{B, C}(A) \cup G_{B, C}(D), \\
G_{B, C}(A) \subseteq G_{P, Q}(A),
\end{gathered}
$$

where $B \subseteq P, C \subseteq Q$.
Proof. Let the IFSs $A, B$ and $C$ be given. Then, for the first equality we obtain that

$$
\begin{gathered}
G_{\square B, \diamond C}(A)=G_{\square\left\{\left\langle x, \mu_{B}(x), \nu_{B}(x)\right\rangle \mid x \in E\right\}, \diamond\left\{\left\langle x, \mu_{C}(x), \nu_{C}(x)\right\rangle \mid x \in E\right\}}(A) \\
=G_{\left.\left\langle x, \mu_{B}(x), 1-\mu_{B}(x)\right\rangle \mid x \in E\right\}, \diamond\left\{\left\langle x, 1-\nu_{C}(x), \nu_{C}(x)\right\rangle \mid x \in E\right\}}(A) \\
=\left\{\left\langle x, \mu_{B}(x) \mu_{A}(x), \nu_{C}(x) \nu_{A}(x)\right\rangle \mid x \in E\right\} \\
=G_{B, C}(A),
\end{gathered}
$$

i.e., it holds. For the second equality we see:

$$
\begin{gathered}
\neg G_{\neg C, \neg B}(\neg A)=\neg G_{\neg\left\{\left\langle x, \mu_{C}(x), \nu_{C}(x)\right\rangle \mid x \in E\right\}, \neg\left\{\left\langle x, \mu_{B}(x), \nu_{B}(x)\right\rangle \mid x \in E\right\}}(\neg A) \\
=\neg G_{\left\{\left\langle x, \nu_{C}(x), \mu_{C}(x)\right\rangle \mid x \in E\right\},\left\{\left\langle x, \nu_{B}(x), \mu_{B}(x)\right\rangle \mid x \in E\right\}}\left(\left\{\left\langle x, \nu_{A}(x), \mu_{A}(x)\right\rangle \mid x \in E\right\}\right) \\
=\neg\left\{\left\langle x, \nu_{C}(x) \nu_{A}(x), \mu_{B}(x) \mu_{A}(x)\right\rangle \mid x \in E\right\} \\
=\left\{\left\langle x, \mu_{B}(x) \mu_{A}(x), \nu_{C}(x) \nu_{A}(x)\right\rangle \mid x \in E\right\} \\
=G_{B, C}(A) .
\end{gathered}
$$

This completes the proof.

### 2.2 Operator $H_{B, C}$

It is defined by:

$$
H_{B, C}(A)=\left\{\left\langle x, \mu_{B}(x) \mu_{A}(x), \nu_{A}(x)+\nu_{C}(x) \pi_{A}(x)\right\rangle \mid x \in E\right\}
$$

Theorem 2. For every six IFSs $A, B, C, D, P, Q$, so that $B \subseteq P, C \subseteq Q$ :

$$
\begin{gathered}
H_{\square B, \diamond C}(A)=H_{B, C}(A), \\
\neg H_{\neg C, \neg B}(\neg A)=J_{B, C}(A),
\end{gathered}
$$

(see Subsection 2.5),

$$
\begin{gathered}
H_{B, C}(A \cap D) \subseteq H_{B, C}(A) \cap H_{B, C}(D), \\
H_{B, C}(A \cup D) \supseteq H_{B, C}(A) \cup H_{B, C}(D), \\
H_{B, C}(A) \subseteq H_{P, Q}(A) .
\end{gathered}
$$

### 2.3 Operator $H_{B, C}^{*}$

It is defined by:

$$
H_{B, C}^{*}(A)=\left\{\left\langle x, \mu_{B}(x) \mu_{A}(x), \nu_{A}(x)+\nu_{C}(x)\left(1-\mu_{B}(x) \mu_{A}(x)-\nu_{A}(x)\right)\right\rangle \mid x \in E\right\}
$$

Theorem 3. For every three IFSs $A, B, C$ :

$$
\begin{gathered}
H_{\square B, \diamond C}^{*}(A)=H_{B, C}^{*}(A), \\
\neg H_{\neg C, \neg B}^{*}(\neg A)=J_{B, C}^{*}(A)
\end{gathered}
$$

(see Subsection 2.6),

$$
\begin{aligned}
& H_{B, C}^{*}(A \cap D) \subseteq H_{B, C}^{*}(A) \cap H_{B, C}(D), \\
& H_{B, C}^{*}(A \cup D) \supseteq H_{B, C}^{*}(A) \cup H_{B, C}(D) .
\end{aligned}
$$

### 2.4 Operator $\bar{H}_{B, C}$

It is defined by:

$$
\bar{H}_{B, C}(A)=\left\{\left\langle x, \mu_{B}(x) \mu_{A}(x), \nu_{A}(x)+\nu_{C}(x)-\nu_{C}(x) \nu_{A}(x)\right\rangle \mid x \in E\right\}
$$

and it is an extension of operator

$$
\bar{H}_{\alpha, \beta}(A)=\left\{\left\langle x, \alpha \mu_{A}(x), \nu_{A}(x)+\beta-\beta \nu_{A}(x)\right\rangle \mid x \in E\right\},
$$

where $\alpha, \beta \in[0,1]$ and $\alpha+\beta \leq 1$ (see [6]
Theorem 4. For every five IFSs $A, B, C, P, Q$, so that $B \subseteq P, C \subseteq Q$ :

$$
\begin{gathered}
\bar{J} \\
\neg B, \diamond C \\
\neg \bar{H}_{\neg C, \neg B}(\neg A)=\bar{J}_{B, C}(A), \\
\bar{J}_{B, C}(A),
\end{gathered}
$$

(see Subsection 2.7),

$$
\begin{gathered}
\bar{H}_{B, C}(A \cap D) \subseteq \bar{H}_{B, C}(A) \cap \bar{H}_{B, C}(D), \\
\bar{H}_{B, C}(A \cup D) \supseteq \bar{H}_{B, C}(A) \cup \bar{H}_{B, C}(D), \\
\bar{H}_{B, C}(A) \subseteq \bar{H}_{P, Q}(A) .
\end{gathered}
$$

### 2.5 Operator $J_{B, C}$

It is defined by:

$$
J_{B, C}(A)=\left\{\left\langle x, \mu_{A}(x)+\mu_{B}(x) \pi_{A}(x), \nu_{C}(x) \nu_{A}(x)\right\rangle \mid x \in E\right\}
$$

Theorem 5. For every five IFSs $A, B, C, P, Q$, so that $B \subseteq P, C \subseteq Q$ :

$$
\begin{gathered}
J_{\square B, \diamond C}(A)=J_{B, C}(A), \\
\neg J_{\neg C, \neg B}(\neg A)=H_{B, C}(A), \\
J_{B, C}(A \cap D) \supseteq J_{B, C}(A) \cap J_{B, C}(D), \\
J_{B, C}(A \cup D) \subseteq J_{B, C}(A) \cup J_{B, C}(D), \\
J_{B, C}(A) \subseteq J_{P, Q}(A) .
\end{gathered}
$$

### 2.6 Operator $J_{B, C}^{*}$

It is defined by:

$$
J_{B, C}^{*}(A)=\left\{\left\langle x, \mu_{A}(x)+\mu_{B}(x)\left(1-\mu_{B}(x)-\nu_{C}(x) \nu_{A}(x)\right), \nu_{C}(x) \nu_{A}(x)\right\rangle \mid x \in E\right\}
$$

Theorem 6. For every three IFSs $A, B, C$ :

$$
\begin{gathered}
J_{\square B, \diamond C}^{*}(A)=J_{B, C}^{*}(A), \\
\neg J_{\neg C, \neg B}^{*}(\neg A)=H_{B, C}^{*}(A), \\
J_{B, C}^{*}(A \cap D) \supseteq J_{B, C}^{*}(A) \cap J_{B, C}(D), \\
J_{B, C}^{*}(A \cup D) \subseteq J_{B, C}^{*}(A) \cup J_{B, C}(D) .
\end{gathered}
$$

### 2.7 Operator $\bar{J}_{B, C}$

It is defined by:

$$
\bar{J}_{B, C}(A)=\left\{\left\langle x, \mu_{A}(x)+\mu_{B}(x)-\mu_{B}(x) \mu_{A}(x), \nu_{C}(x) \nu_{A}(x)\right\rangle \mid x \in E\right\}
$$

and it is an extension of operator (see [6]):

$$
\bar{J}_{\alpha, \beta}(A)=\left\{\left\langle x, \mu_{A}(x)+\alpha-\alpha \mu_{A}(x), \beta \nu_{A}(x)\right\rangle \mid x \in E\right\},
$$

where $\alpha, \beta \in[0,1]$ and $\alpha+\beta \leq 1$.
Theorem 7. For every five IFSs $A, B, C, P, Q$, so that $B \subseteq P, C \subseteq Q$ :

$$
\begin{gathered}
\bar{J}_{\square B, \diamond C}(A)=\bar{J}_{B, C}(A), \\
\neg \bar{J}_{\neg C, \neg B}(\neg A)=\bar{H}_{B, C}(A), \\
\bar{J}_{B, C}(A \cap D) \supseteq \bar{J}_{B, C}(A) \cap \bar{J}_{B, C}(D), \\
\bar{J}_{B, C}(A \cup D) \subseteq \bar{J}_{B, C}(A) \cup \bar{J}_{B, C}(D), \\
\bar{J}_{B, C}(A) \subseteq \bar{J}_{P, Q}(A) .
\end{gathered}
$$

### 2.8 Remark on the new operators

Let

$$
\begin{aligned}
Y & =\{\langle x, \alpha, \gamma\rangle \mid x \in E\}, \\
Z & =\{\langle x, \delta, \beta\rangle \mid x \in E\},
\end{aligned}
$$

where $\alpha, \beta, \gamma, \delta \in[0,1]$. Then for each IFS $A$ :

$$
\begin{aligned}
& G_{\alpha, \beta}(A)=G_{Y, Z}(A), \\
& H_{\alpha, \beta}(A)=H_{Y, Z}(A),
\end{aligned}
$$

$$
\begin{aligned}
H_{\alpha, \beta}^{*}(A) & =H_{Y, Z}^{*}(A), \\
\bar{H}_{\alpha, \beta}(A) & =\bar{H}_{Y, Z}(A), \\
J_{\alpha, \beta}(A) & =J_{Y, Z}(A), \\
J_{\alpha, \beta}^{*}(A) & =J_{Y, Z}^{*}(A), \\
\bar{J}_{\alpha, \beta}(A) & =\bar{J}_{Y, Z}(A) .
\end{aligned}
$$

Therefore, each of the new operators is an extension of its corresponding modal operator. It is obvious that the opposite representation is impossible.

## 3 Conclusion

In a next research, other properties of the newly defined operators will be studied. All of them can be used in a lot of areas of informatics and, especially, in the Artificial Intelligence for modification of intuitionistic fuzzy evaluations. Also, they can be used in Intercriteria Analysis procedures for changing of evaluations of the compared criteria.

## Acknowledgements

The author is thankful for the support provided by the Bulgarian National Science Fund under Grant Ref. No. DFNI-I-02-5 "InterCriteria Analysis: A New Approach to Decision Making".

## References

[1] Atanassov, K. (1988) Two operators on intuitionistic fuzzy sets, Comptes Rendus de l'Academie bulgare des Sciences, 41(5), 35-38.
[2] Atanassov, K. (1989) Four new operators on intuitionistic fuzzy sets. Preprint IMMFAIS-489, Sofia.
[3] Atanassov, K. (1999) Intuitionistic Fuzzy Sets, Springer, Heidelberg.
[4] Atanassov, K. New operators over intuitionistic fuzzy sets. Proc. of IPMU'2004, Perugie, Italy, June 2004, 2, 1383-1387.
[5] Atanassov, K. (2012) On Intuitionistic Fuzzy Sets Theory, Springer, Berlin.
[6] Atanassov K. T. (2018) Two Intuitionistic Fuzzy Modal-Level Operators, Advances in Fuzzy Logic and Technology 2017, IWIFSGN 2017, EUSFLAT 2017, Kacprzyk J., Szmidt E., Zadrozny S., Atanassov K., Krawczak M. (eds). Advances in Intelligent Systems and Computing, vol 641. Springer, Cham, 85-98.

